a(6 @) (rad)
a(d cot(B))

10—2 3 K

207 bt

S l.ﬁQ—.H ......?..
= -E

Ratlg

=

B

T
==
s
5l
ik SUE
=
i P
Ratio

0.5

L 2] | r : : ; : !
-3 -2 -1 0 1 2 3 S R -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—original_step. ar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom
M_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
M_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

A T g
s [ =t
3 S
5 5
107 g
FF- 10_1::
107 R
: HHH 1072 i
o il
] T r ]
: ©E L ke
: [ ’ o5k {-{} 14
C * : L
23 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

3
TP n (PCA to beamline)



	Contents
	Page 1


